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According to the testcase for subtest  greater then 3( greater then 2 for 14.6.7) the no of harq process is specified to be 8. The test points specified in 14.1.3.2.1a requires to test the max TB size that is applicable for each category. 

For  e.g  when MAC-d PDU size is configured to 656 for Categort 1 to 6 ( table 14.1.3.4.1)test points 11 requires TB size 7298. For CAT 1,The total no of soft channel bits will result in 7298 * 8 = 58,384 which exceeds  the maximum no of soft channel bits applicable to the UE category 19,200 (see 25.306 Table 5.1a).    The same issue applies for CATEGORY 2 to 5  & 11
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Therefore 

for Category 1 & 2 no of harq process should be set to 2

for Category 3, 4 & 11  no of harq process should be set to 3
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2 Correction to HSDPA RAB testcases
2.1 ts_SubtestInitVariables_UL_128k_HS, ts_SubtestInitVariables_UL_384k_HS, ts_SubtestInitVariables_UL_64k_HS & ts_SubtestInitVariables_UL_128k_14_6_7_HS

Test step Name
ts_SubtestInitVariables_UL_128k_HS, 

ts_SubtestInitVariables_UL_384k_HS, 

ts_SubtestInitVariables_UL_64k_HS & 

ts_SubtestInitVariables_UL_128k_14_6_7_HS



Reason for change
 According to the testcase for subtest  greater then 3( greater then 2 for 14.6.7) the no of harq process is specified to be 8. The test points specified in 14.1.3.2.1a requires to test the max TB size that is applicable for each category. 

For  e.g  when MAC-d PDU size is configured to 656 for Categort 1 to 6 ( table 14.1.3.4.1)test points 11 requires TB size 7298. For CAT 1,The total no of soft channel bits will result in 7298 * 8 = 58,384 which exceeds  the maximum no of soft channel bits applicable to the UE category 19,200 (see 25.306 Table 5.1a).    The same issue applies for CATEGORY 2 to 5  & 11



Summary of change
Therefore 

for Category 1 & 2 no of harq process should be set to 2

for Category 3, 4 & 11  no of harq process should be set to 3

for Category 5 no of harq process should be set to 6



Source of change
New change

Label
WA#

ts_SubtestInitVariables_UL_128k_HS
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(tev_HS_Cfg.numberOfProcesses=3)
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ts_SubtestInitVariables_UL_384k_HS
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ts_SubtestInitVariables_UL_64k_HS
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tov_RAB_HSDPA_Info recsivingWindowsize:=rwi536,
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(1ev_HS_Cfy numberOfProcesses:=s,
tov_RAB_HSDPA_Info recsivingWindowSize:=rwi024,
tev RAB_HIDPA_Info iansmissionwindowSize=twi 28)

{tev_H3_Cfo phyLayCategory=11)]
(tov_HS_Cfa numberOfProcesses=3)

[TRUE]

TTRUE]

(13
e
e
e
e
e
e

@sic Rs080183 51t @

(13
e
e
Categories 1 to 12 only allowed





[image: image9.png][(p_Subtest= 4)]
[ tov_HS_Cy phyLayCategory=1) OR(tev_HS_Cfy phyLayCategory =2) OR(cv_HS_Cfy. phyLayCategory =3) OR(tev_HS_Cfy phyLayCatey
ory=4) OR(tcy_HS_Cfo.phyL ayCategory =5) OR(tev_HS_Cfy phyLayCategory=6) |
(1ev_HS_Cfy numberOfProcesses:=s,
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[tev_HS_Cfy phyLayCategory =1) OR(tev_HS_Cfa phyLayCategory=2)]
(1ev_HS_Cfa numberOfProcesses=1)
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(1ev_HS_Cfa numberOfProcesses=3)
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(1tov_HS_Cfa numberOfProcesses=5)

[TRUE]
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(1ev_HS_Cfy numberOfProcesses:=s,
tov_RAB_HSDPA_Info recsivingWindowsize:=rw12,
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[(tev_HS_Cig.phyLayCategory=8) |
(1ev_HS_Cfy numberOfProcesses:=s,
tov_RAB_HSDPA_Info recsivingWindowSize:=rwi1024,
tev_RAB_HSDPA_Info.transmissionindowSize:=tws12)
[tev_HS_Cig phyLayCategory=10)]
(1ev_HS_Cfy numberOfProcesses:=5,
tov_RAB_HSDPA_Info recsivingWindowSize:=rwi024,
tev_RAB_HSDPA_Info.transmissionindowSize:=tw 024)
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ts_SubtestInitVariables_UL_128k_14_6_7_HS

[image: image10.png]Test Step

[TestSten 10 Ts_Subtestinitvariables_UL_128k_14_6_7_HS(p| SubtestiNTEGER)
Test Step Group Refl Hanes s

Objective:

Defaults: 55_Def

Comments:

Behaviour Description

Comments.





[image: image11.png][p_Subtest=2]
[{tev_HS_Cfy phyLayCategory=1) OR tov_HS_Cfy phyLayCategory=2) OR (tov_HS_Cfy phyLayCategory=3) OR (tov_HS_Cfy phyLayCate
5oy =4) OR(tev_HS_Cfy.phyLayCategory =5) OR (tcv_HS_Cfy.phyLayCategory =6)]
(1ev_HS_Cfy numberOfProcesses:=s,
tov_RAB_HSDPA_Info receivingiindowsize:=i

[tev_HS_Cfy phyLayCategory =1) OR(tev_HS_Cfa phyLayCategory=2)] [
(1ev_HS_Cfa numberOfProcesses=1) Wik
[tev_HS_Cfy phyLayCategory =3) OR(tev_HS_Cfa phyLayCategory=4)] Wik
(1ev_HS_Cfa numberOfProcesses=3) Wik
[(tev_HS_Cig.phyLayCategory=5)] Wik
(1tov_HS_Cfa numberOfProcesses=5) Wik
[TRUE] (3

TV HE_CTg PryLayCategory=7) OR [ov_HE_C13 pryLayCategor =8
(1ev_HS_Cfy numberOfProcesses:=s,
tov_RAB_HSDPA_Info receivingiindowsize:=i
tev_RAB_HSDPA_Info.ransmissionwindowSize:
[(tev_HS_Cig.phyLayCategory=8)]
(1ev_HS_Cg numberOfProcesse:
tov_RAB_HSDPA_Info receivingiindowsize:=i
tev_RAB_HSDPA_Info.transmissionindowSize:=tws12)
[tev_HS_Cig phyLayCategory=10)]
(1ev_HS_Cfy numberOfProcesses:=5, @sic R5-085536 sit@
tov_RAB_HSDPA_Info receivingiindowsize:=i
te_RAB_HSDPA_Info.ransmissionwindowSize:
[tov_HS_Cfy phyLayCategory=11) OR (tov_HS_Cfo.phyLayCategory =12)]
(1ev_HS_Cg numberOfProcesse:
tov_RAB_HSDPA_Info receivingiindowsize:=i

[(ev_HS_Ofg phyLayCategory=11)] v
(tev_HE_Cfg mumberOfProcesses=3) i
[TRUE] i





[image: image12.png][(p_Subtest= 4) OR (p_Subtest= 6)OR (p_Subtest= 8)OR (p_Subtest= 10)OR (p_Subtest=12)OR (p_Subtest= 14)OR (p_Subtest=16)
OR (p_Subtest=18)]

[ tev_HS_Ciy phyLayCategory=1) OR(tev_HS_Cfy phyLayCategory =2) OR(cv_HS_Cfy. phyLayCategory =3) OR(tev_HS_Cfy phyLayCatey
ory=4) OR(tev_HS_Cfy.phyLayCategory =5) OR(tev_HS_Cfg.phyLayCategory=6) |

(1ev_HS_Cfy numberOfProcesses:=s,
tov_RAB_HSDPA_Info recsivingWindowsize:=rw12,
Sy BAR_HENPA I " =hu25E)

[{tev_HS_Cfy phyLayCategory=1) OR(tev_HS_Cfy phyLayCatego
(1ev_HS_Cfa numberOfProcesses=1)

[tev_HS_Cfy phyLayCategory =3) OR(tev_HS_Cfa phyLayCategory=4)]
(1ev_HS_Cfa numberOfProcesses=3)
[(tev_HS_Cig.phyLayCategory=5)]

(1tov_HS_Cfa numberOfProcesses=5)

[TRUE]

)

Tiev_HE_CTg phyLayCategory=7) O (ov_HE_CTa phyLayCategory =2
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tov_RAB_HSDPA_Info receivingiindowsize:=i
tey_RAB_HSDPA_Info.ransmissionwindowSize:

U PV C Aoy

(tev_H5_Cfa phyLayCategory=11)]
(tov_HS_Cfa numberOfProcesses=3)
[TRUE]

[TRUE] 1
[TRUE] |
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